Math 157 - Test 1 Name \<e(:()
September 18, 2013 Score

Show all work to receive full credit. Supply explanations where necessary.

1. (4 points) Find the z- and y-intercepts of the graph of y = 22 — 4z + 3.
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2. (2 points) Write an equation of the vertical line passing through (8, —3).
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3. (5 points) Find f~(z) if f(z) = v2z — 3.
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4. (5 points) The supply and demand equations for a handheld video game system are
given by
p=240 -4z

p=135+ 3z
where p is the price (in dollars) and  is the number of units (in hundreds of thousands).
(a) Which equation is probably the supply equation and which is probably the de-

mand equation? Explain your reasoning.
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(b) Find the equilibrium point.
GHO -Yx = 1354+ 3x X = /5
05 = 7x p= 35+3(\5> /‘80
r°s = L
7 = X ( (%, P) '8 c>>

5. (4 points) Write an equation of the line passing through (4 7 and perpendlcular to
o5z + 8y = 13.
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6. (3 points) Let f(z) =2z — 1 and g(z) =
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(a) Find the composition g(f(z)).
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(b) What is the domain of g(f(z))?



7. (8 points) Plot the points. Then use the distance formula and the Pythagorean theorem
to determine whether the points are the vertices of a right triangle.
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8. (4 points) Find an equation of the line whose graph is shown below.
"/
R -\-(-5) 4
x - e e = m—
(Fa, M2 a9 3
/ M)
(-5,°5) yrs e 3 les)
LS
oW
Y )
SRR



9. (5 points) Explain why liﬁn% W does not exist. ~_
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10. (24 points) Compute each limit. If appropriate, use 400, —oco, or DNE.

(a) lim (2 — 7z + 3)
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11. (5 points) Use a table of values to guess the limit. Your table should include at least
six different values of the function near the limit point.
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12. (3 points) Determine where F(z) = 52__ 9 is continuous.
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13. (6 points) Find % so that g is continuous at z = 2.
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14. (10 points) Let f(z) = 2 — 5z + 1. Use the limit definition of derivative to find f'(z).
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15. (5 points) Let f(z) = T2 It can be shown that f'(z) = I Use this
information to find an equation of the line tangent to the graph of f at the point
where z = 3.
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16. (7 points) Referring to the graph shown below, determine each of the following or
explain why it does not exist.
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(f) The z-coordinate of a point at which f'(z) > 0
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(g) The z-coordinate of a point at which f is NOT continuous.
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